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COMPLIANT

T0-92

MAXIMUM RATINGS(Ta=25C unless otherwise noted)

Symbol Parameter Value Units i
VCBO Collector-Base \oltage -120 \Y 1. EMITTER
VCEO | Collector-Emitter Voltage -120 \Y; | ! ]
VEBO Emitter-Base Voltage -5 \Y; 2 COLLECTOR
IC Collector Current -0.1 A 3 BASE
PC Collector Power Dissipation 300 mw
Tj Junction Temperature 150 C
Tstg Storag Temperature -55~150 C e

ELECTRICAL CHARACTERISTICS(Tamb=25"C unless otherwise specjfied):

Parameter Symbol Test conditions MIN | TYP | MAX | UNIT
Collector-base breakdown voltage V(BR)cBo | lc=-100uA, Ie=0 -120 \
Collector-emittre breakdown’voltage V(BR)ceo | lc=-1mA, Is=0 -120 \Y
Emitter-base breakdown voltage V(BR)Eso | lc=-100uA, Ic=0 -5 \
Collector cut-off current IcBo Vce=-120V, Ie=0 -0.1 uA
Emitter cut-off current IeBO VEB=-5V, Ic=0 -0.1 uA
DC current gain Hre Vce=-6V, lc=-2mA 200 700
Collector-emitter saturation voltage VCE(sat) | IC=-10mA,IB=-1mA -0.3 )
Base-emitter voltage VBE VCE=-6V,IC=-2mA -0.65 v
Transition frequency fT VCE=-6V,IC=-1mA 100 MHz
Collector ouput capacitance Cob VVCB=-10V,IE=0,f=1MHz 4.0 pF
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Electrical Characteristic Curve

Ic — Vce Ic — VBE
-5 —30,
COMMON EMITTER 5 COMMON EMITTER
Ta=25°C —‘___’;_._-— VoE= —6V
— 4 — -9 __| —25
"]
P _____—_—_-—-'::"’
. — I — ey
E | "] -7 — 20
E  _3 . —
- L —_—T _6 é
—T =5 L -15 Ta=100°C }— 2541 —25
;
_ e
el :
-3 _10]
—1 —2 — ’
IB= —14A ’
-5
— Py /
0O
0 -2 -1 —6 -8 —10 /
_/
VCE W 0 —02  -04 —06 -08 —10
VBg V)
hre — Ic
5000
COMMON EMITTER
3000 VeE= -6V S
400
2 100
= Ta=100°C
500 75 ——. 300]
—25 —~ = N
300 == = \\
~ 200
© ~
="
100
-0.1 —0.3 -1 -3 —10 —30
1 M
Ic (mA) 00 \\
VCE (sat) — IC s
1 (sat) 0 25 50 75 100 125 150
COMMON EMITTER Ta ¢C)
—0.5 Ic/Ig=10
. —03
?’ o
= Ta=100°C L 1 ~
2 —0.1 Ll g{_—J-"
= !
= NF — Rg, Ic
—0:05 i 1005 e = N
0.03 = DN S She
_o. N uul
COMMON EMITTER [N ISR N NN
VCE=—-6V NN 6N N
—0.01 f=1KHz N \\4\\\ N
Zo1r o3 -1 —3 —10 30 Ta=25°C ~{\K\ NN
104 NF=1dB s
Ig GmA) NS
N\ \“
a N
Cob— V o NN AN
ob— VCB N
20 £ \\ NN
1R
Ig=0 S
— N NN
. f=1MHz NN
Ta=25°C N
? AN NN ™N_NF=1dB
= N
?3‘ 5 \\ \\\L ™2 \\
T~ 10 = N 3 =
2 \ ~— Faes
=2 3 e — \\\ N 6 H =
~— NG L
10 = =
125 Y - W
. N \\ \-n_J_\
17 3 10 50 e ~10 —100 —1000 —10000
Ve (V) Ic (A

_—http://WWW.Igesemi.Com : :
Revision:20170701-P1 mail:lge@lgesemi.com





